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fig fifi =R
(A) (B=A/C) (C) (D) (E=D/F) (F)
I & 0 22 112.0 379 6.50 356
HOA& R 0 — 0.0 0 — 0
A" F R 27 170.0 10.0 32 -41.80 55
"W R 11 A 52.2 23.0 0 — 0
® o\ R 7 A 94.4 126.0 361,988 He g 0
R 0 R 2.0 0 — 0
o R 0 — 0.0 19 4 0
xR 10 AN 9.1 11.0 0 — 0
oA R 0 22 13.0 69 263.20 19
HOE R 1,198 3,893.3 30.0 241 -35.40 373
B OE R 353 A 49.6 700.0 739 -44.10 1323
T FE R 39 A 67.8 121.0 332 -30.30 476
O 46,711,985 21.4 38482440.0 276,724 -12.50 316089
fh A3 IR 308,532 47.9 208578.0 6,000 -7.80 6507
Bow R 8 A 89.0 73.0 714 -48.10 1377
ol R’ 0 0.0 173 -34.70 265
o & 0 22 33.0 0 — 0
mwmoH R 47 A 96.4 1295.0 1,336 143.40 549
i B * * % * * %
E % K 10,767 A 16.0 12821.0 3,173 -86.30 23232
I BB 0 I 14.0 196 -79.10 936
Bom R 1,970 A 96.6 58233.0 5,530 -53.90 11994
E om R 45 4.7 43.0 447 -68.70 1427
= &= R 0 - 0.0 0 — 0
wos R 0 I 9.0 0 — 0
O 0 2 237.0 210 -12.10 239
K OB K 103 A 45.8 190.0 286 ~74.50 1123
£ OE R 119 108.8 57.0 50 -63.50 137
= B R 0 — 0.0 0 — 0
ook R 0 - 0.0 1 -50.00 2
5 oW R 0 — 0.0 0 — 0
BOAROR 28 A T77.6 125.0 0 — 0
ool R 0 I 58.0 1 -50.00 2
A S 0 R 152.0 355 -43.50 628
(AT = 555 A 385 902.0 0 — 0
wmoE R 0 — 0.0 0 — 0
F IR 0 I 4.0 0 R 20
E ok R 0 — 0.0 0 —
mooE R 0 — 0.0 0 — 0
o R 12 A 58.6 29.0 43 -44.20 77
e B R 12 0.0 12.0 0 — 0
£ KR 0 B 4.0 0 — 0
LB NI 0 — 0.0 0 — 0
R Gy R 0 B 4.0 0 — 0
OO 3 e i 0.0 0 — 0
B R 11 R 0.0 0 0
oo R 10 A 52.4 21.0 0 R 155
& F 47,035,852 213 38,766,482 659,038 79.4 367361




